Green Multipliplying and dividing by 10, 100 and 1000





5. Multiply the following numbers by 100 and place them in order from smallest to greatest.



Yellow Multiplying and dividing by 10, 100 and 1000



7a. Which statements are correct?							
Α.	42	x	100	>	24	x	100
В.	16	x	100	=	100	x	16
C.	51	x	100	<	19	x	100

 8b. True or false?

 100 x 11 = 11,000

 Match each statement below to the correct answer.

 X4,000 ÷ 10 =

T Th

Th

34,000 ÷ 100 =

34,000 ÷ 1,000 =

н

3,400

Т

0





Red Multiplying and dividing by 10, 100 and 1000



Leon and Katie are polishing the trophies in the cabinet. It takes 10 minutes to polish each trophy. Altogether they polished for 280 minutes.

How many trophies could Leon and Katie have polished each? Find 3 possibilities.

Green Answers Multiplying and dividing by 10, 100 and 1000



Yellow Answers Multiplying and dividing by 10, 100 and 1000



Red Answers Multiplying and dividing by 10, 100 and 1000



